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WRITINGSECTION ACOMPOSITION The Influence of Internet

With the development of economy and society,people need much

more information and communication.So more and more people

surf on Internet.Internet plays an important role in our lives.

Although it has positive effects ,there are some negative ones,

too.The positive effects can be demonstrated as follows.For a

start,from Internet,we can obtain much beneficial information and

communicate with others conveniently.This,in turn,helps improve

our working efficiency and promotes the economical prosperity of

our country.What’s more,from it,we can study and entertain

ourselves.In addition, Internet also brings friendship between

individuals,and even between countries.In contrast, Internet also

gives rise to a series of negative effects as well.For example,some

contents onInternet are violent and dirty,which will corrode some

people’s soul.Furthermore,the long chatting onInternet will hinder

people’s study and rest.The influence of Internet is actually a

doubleedged sword.We should try to make the most of its

advantages.At the same time,we should avoid its

harmfulness.SECTION B NOTE-WRITING Dear John,I’m so

sorry I can’t come to your party this evening.My mother is ill,and

Im going home to see her.Thanks for asking me,John,and happy

birthday.yours,TomPART Ⅲ LISTENING



COMPREHENSIONSECTION A STATEMENT 1. 答案 D【试题

分析】本题考查考生对关键词语的理解。【关键词语】

slammed,leaving a ring【详细解答】本题考生容易被现在分词

作状语的“leaving a ring in our ears”所混淆，以为听到的是两

句话，从而又被“ring”一词影响而选择C。考生只有听清了

句子结构，并听懂了主句中“slammed”一词，就不难得出正

确答案了。2. 答案 A【试题分析】本题考查考生对关键词语

的理解。【关键词语】 was founded【详细解答】本题要求考

生能听出“found”一词，特别是与“fund”一词的区别。前

者的发音是［ｆａｕｎｄ］，后者的发音是［ｆｎｄ］。考

生还要注意“a group of women”就是“some women”，而与

“a women’s group”含义不同。3. 答案 A【试题分析】本题

要求考生在理解关键词的同时进行推断。【关键词语】 must

have gone,instead of【详细解答】“must have done”的句型是

表示“对过去发生的事情的肯定判断”；instead of表示“而

不是⋯⋯”。所以综合判断，该句前半部分是发生的事情，

后半部分是没有发生的事情。4. 答案 B【试题分析】本题要

求考生理解关键词语。【关键词语】 the most heavilypopulated

【详细解答】本题只要是考生听清楚了关键词，并听清楚

“California”一词就不难得出答案。本题容易混淆的是

“populated”和选项中的“popular”一词，考生要注意。5. 

答案 D【试题分析】本题要求考生听清关键词，并进行推断

。【关键词语】 a slight increase【详细解答】在这类一句话的

听力题中，考生要特别注意象“but”一类的词后的内容。本

题注意了“but”后的关键词，就可以推断出正确答案。6. 答

案 D【试题分析】本题要求考生听清关键词，并进行计算。



【关键词词】 two boxes,doubled【详细解答】本题关键是要听

清句中的数字，并注意“but”一词后面的内容。考生听清了

这些关键部分，就只要做2×2=4这样的简单计算就可以得出

答案了。7. 答案 A【试题分析】本题要求考生理解关键词。

【关键词语】 a bowl of icecream【详细解答】听清了关键词语

“一碗冰淇淋”，那自然就是“一份甜点”，考生不难得出

答案。8. 答案 C【试题分析】本题是要求听懂关键词，并进

行推断。【关键词语】in court【详细解答】本题听懂了关键

词“在出庭”，那么考生通过对选项中四个职业的推断，不

难选出C是最合适的答案。9. 答案 C【试题分析】本题要求考

生理解关键词。【关键词语】 ran across,during【详细解答】

“ran across”是偶然遇见，而“during”是表示在旅途当中，

也就是在去巴黎的路上，而不是在巴黎，所以综合判断，答

案自然是C。 100Test 下载频道开通，各类考试题目直接下载
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